Oral Practice with Law Vocabulary

In court

You’re a judge. You must decide how long to send the accused to prison for. The minimum is three months. The maximum is a real life sentence ( even if there isn’t this possibility according to your country’s law). You can also acquit.

Here are your cases:

Case 1

This man is a well-known leader of a radical organization. He was recently tried for possessing one marijuana cigarette and sentenced to ten years in prison. He is appealing the decision.

Case 2

This man is a former Varig flight attendant. He’s saved many lives and rescued many people by the time he was one Varig employee. One day after being given a golden medal for his brightest rescue, he was laid off. He spent a year jobhunting, but failed. A friend of his asked him to deliver drugs in other countries with his own jet. He did it for eight months. He is married and has a two-year old daughter. 

Case 3

A twelve-year old boy is used to pickpocketing at traffic lights in order to bring food home. He has seven brothers and he is the eldest one. There’s only himself to support these children.

Case 4

This factory owner is on trial for cruel and inhuman treatment. The workers in his factory had a sit-down strike to protest against low wages. The owner gave nine shots upward hitting a pregnant employee who just died at the local hospital including the baby.

Case 5

This woman is accused of abortion after being raped. She was sentenced to six years. She has been appealing the decision for three years.

The Lawyers

There were two lawyers, Alfred and Bertram. Alfred once borrowed a great deal of money from Bertram. He promised to pay him back on the day he won his first case in court. But Alfred was lazy and nice, but took no a case.

At first Bertram didn’t mind, but after five years he got tired of waiting for his money. He decided to take Alfred to court to get the money back.

On the day of the trial they both came to court feeling happy and confident. They shook each other’s hand as if nothing was wrong. Alfred was sure whether he won or lost in court he wouldn’t need to pay Bertram the money back. Bertram, on the other hand, was sure he would get his money back. Can both of them have been right?

	Alfred’s point of view

1- If the judge says he must pay, then he has

A] won the case

B] lost the case

2- If so, then according to his promise to Bertram,

A] he has to pay Bertram

B] he doesn’t need to pay him back

3- If the judge says he doesn’t need to pay Bertram, then he has

A] won the case

B] lost the case

4- If so, then according to the law,

A] he must pay Bertram

B] he doesn’t need to pay him


	Bertram’s point of view

1- If the judge says Alfred must pay,  then he has

A] won the case

B] lost the case

2- The judge’s ruling is law, so

A] Alfred has to pay up

B] he doesn’t have to pay up

3- If the judge says Alfred doesn’t need to pay then Bertram 

A] has won the case

B] has lost the case

4- Therefore, according to Alfred’s promise,

A] Alfred must pay him

B] Alfred doesn’t need to pay him. 


Does this sound quite right to you? Is either of them right? Where’s the contradiction?

